Arborescence 2

Basse Musique de Thierry Chauve
7
E F 0" E7 Am  Dm G C D7
Tab B G O_G 2 B
0 ———0 0 0—>5 3 3——
5
) d \ \) . ‘)
& & - & r
7
C D7 G AmE F D" E7 Am
S 33 S S — 0 — % 0 0—5
—
()‘ & & & -‘-)
Dm G C D7 C D7 G Am
5 55 3—5 5 55
3 3 8—8 3—5
_"
(\) o o) i o L
Bm7b5 C Am7
-7 —7 8 8—8 8 8—8 5 55
13b
)] / /
H @ & /

Thierry Chauve © All rights reserved ee-scor



http://www.free-scores.com

G7

Am

Bm7b5 C

Tal
5 5—5—1 3 3—5 7 7—7 8 8—8
¥ , , — /
o @ =L & o oG
Am7 F G7 Am
5—5—5—
8 8—8 5 5—5 5 5—5 1 ~ 5
/ o o @
o o o 7
——
D7 G D A7
5 5—5 5 55
3 3—3 5 5 5—5
25a
I el ) ) —o i
y o . y
D G D D7 G
5 5— - 5 5 5 5—5 — —
—® D D Y
76 o 7 PR e O
D A7 D G D
5 55 5 5 55 55
5 5 5—5 3 3
—o° d ) » o o
() &- [ J () = Y

Arboresce. . €€-2C0 Uy L



http://www.free-scores.com

7
E F D E7 Am  Dm G C D7
Tal 5 5 — —
0—0—1 0 0 p— 3 :
37b
)
ST ) ) . =
o o o < == 5 = .
7
¢ D7 G AmE F D" E7 A
—5 3 3 5 5 0 -
3 0 1 0 5 ;
_' :
() o > o < _‘_)
Dm G C D7 C 7 G Am
0 0
9 5—5 3 . : c
3 3 3 s -
_" » \
7 7 C— R =
G D13
| o 2 2 5—5 55555
: o o o o
L @° "
Arboresce..£€-5COf

UUL*|uuUU



http://www.free-scores.com

